1.)  Phenols react with                                                                 to form esters.  This reaction is classified as a                                                                                  .  What is the role of the sodium hydroxide in this reaction?
2.)  Phenols react with                                                       to form ethers.  This reaction occurs through a/an                          mechanism.  What is the role of the potassium carbonate in this reaction?
3.)  Alkyl side chains on benzenes can be oxidized to                                                       using potassium permanganate or dichromate.  What is the requirement for this reaction to occur?

4.)  Alkyl side chains on benzenes can be halogenated using                                           .  This reaction occurs through a/an                                                   mechanism.  Which position is halogenated?  What is the requirement for this reaction to occur?

5.) List all the radical initiators that you know.  
Predict the products of the following reactions.  Show the mechanisms for numbers and one and two.
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